
GrippinH at a lonH point is aWailaCle

CZ tIe Vse oG tIe linear HViEe� 

6se�PG�-*/&"3�(6*%&
˗8itIstanE loaE
 XitIstanE moment 	IiHI riHiEitZ

˗HiHI accVracZ 	repeat accVracZ� ʶ0�01 mm or less

˗GrippinH at a lonH point anE oWerIanH HrippinH are aWailaCle�

˗ʶ0�07mm or less
˗3ear 'ace

˗#ottom 'ace

���
%PXOsi[iOH
%oXnTi[eE to

7olVme 	mm�
� ���

8eiHIt 	H
� ���

)1����$PNQBrisPO�XiUI�)1��
ʢComparison XitI П16ʣ

)P����� )P�����

HP14Series

Compact Parallel Linear Gripper

HiHI 3iHiE
 Compact anE LiHItXeiHIt 5Zpe

SXiUDI�(rPPWe

1PsiUiPOiOH�)PMe

$PNQBDU
BOE

-iHIUXeiHIU

&YDeMMeOU�

$&/5&3*/(�̖DDVrBDZ

139

H
P

1
4

 S
e
rie

s
C

o
m

p
a
c
t P

a
ra

lle
l L

in
e
a
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



˙*nternal StrVctVre %iaHram

˙ .oEel CoEe /o�

4erieT /ame

#ore 4i[e

10：10mm

16：16mm

20：20mm

25：25mm "ction 5Zpe

C : Double Acting

HP14 10 C ※

/VmCer oG 4XitcIeT

4XitcI LeaE 8ire LenHtI

A：1m

B：3m

1:1 Switch

2:2 Switches

ZE235 A 2

PartT LiTt

/0

�

�

�

�

�

�

�

�

�

��

��

��

��

��

��

��

Main Body

Head Cover

Piston Rod

Magnet

Pressure Cover

Action Lever

Fulcrum Pin

Press Fit Pin

Press Fit Pin

Knuckle

Hole Locating Snap Ring

Hexagon Socket Head Bolt

Linear Guide

Rod Packing

Piston Packing

O Ring

Aluminum Alloy

Aluminum Alloy

Stainless Steel

Magnetic body

Aluminum Alloy

Carbon Steel

Carbon Tool Steel

Carbon Tool Steel

Carbon Tool Steel

Stainless Steel

Carbon Tool Steel

Carbon Steel

Stainless Steel

NBR

NBR

NBR

໊ɹɹশ ɹɹ࣭ࡐ

12 13

10

15

14

16

11

8

7 9

6

3

2

1

4

5

●Switch details→P.521～528

˔4XitcI 5Zpeɹ/o CoEe� /o 4XitcI

2 Wire System Solid State Switch, Straight Type

;&��� &4��

3 Wire System Solid State Switch, Straight Type

;&��� &4ʢPʣ��

2 Wire System Solid State Switch, L-shaped

;&��� &4��

3 Wire System Solid State Switch, L-shaped

;&��� &4ʢPʣ��

˙Specipcations

˙"lloXaCle LoaE anE "lloXaCle .oment

Note)  The grip force is measured at the intermediate position of the opening/closing stroke. It is an effective value

when the grip point L is 30 mm and the pressure is 0.5 MPa. 

When this product is used with an extremely short stroke, it may work badly because of the lack of oil of the guide. 

45

96

205

366

4

6

10

14

11

35

49

86

17

46

65

111

0.2  

0.12

0.1  

0.1  

10

16

20

25

)P�����C

)P�����C

)P�����C

)P�����C

16×23×35

22×34×42

26×45×53

32×52×65

%oVCle

"ctinH

'lViE

.aYimVm 0peratinH PreTTVre

ProoG PreTTVre

0peratinH 5emperatVre

LVCrication

Pipe #ore

.aYimVm 0peratinH CZcle

CenterinH "ccVracZ

3epeat "ccVracZ

"pplicaCle 4XitcI

ʦ.Paʧ

ʦ.Paʧ

ʦˆʧ

ʦCZcle�minʧ

ʦmmʧ

ʦmmʧ

Air

0.7

1.05

0～60 (No Freezing)

Not Required (Required for sliding parts of the machine)

M3×0.5（HP14-10）

M5×0.8（HP14-16, 20, 25）

180

±0.07

±0.01

ZE, ES Type (Solid State Switch)

)P�����

)P�����

)P�����

)P�����

60

100

160

280

0.3

0.8

1.4

2.4

0.3

0.8

1.4

2.4

0.6

1.6

2.8

4.8

.oEel

LoaE anE
.oment

'Y

."

.#

.C

'9

ʦ/ʧ
."

ʦ/ɾmʧ
.#

ʦ/ɾmʧ
.C

ʦ/ɾmʧ

ProEVct
.aTT
ʦHʧ

.inimVm
0peratinH
PreTTVre
ʦ.Paʧ

0peninH�
CloTinH
4troLe
ʦmmʧ

#ore 4i[e
ʦmmʧ

.oEel
0VtTiEe %imenTionT

	5 Y 8 Y L

ʦmmʧ

GrippinH 'orce
ʦ/ʧ

CloTe 0pen

"ction
5Zpe

140

H
P

1
4

 S
e
rie

s
C

o
m

p
a
c
t P

a
ra

lle
l L

in
e
a
r G

rip
p
e
r

Compact Parallel Linear Gripper

HP14 Series

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



˙Specipcations

˙"lloXaCle LoaE anE "lloXaCle .oment

Note)  The grip force is measured at the intermediate position of the opening/closing stroke. It is an effective value

when the grip point L is 30 mm and the pressure is 0.5 MPa. 

When this product is used with an extremely short stroke, it may work badly because of the lack of oil of the guide. 

45

96

205

366

4

6

10

14

11

35

49

86

17

46

65

111

0.2  

0.12

0.1  

0.1  

10

16

20

25

)P�����C

)P�����C

)P�����C

)P�����C

16×23×35

22×34×42

26×45×53

32×52×65

%oVCle

"ctinH

'lViE

.aYimVm 0peratinH PreTTVre

ProoG PreTTVre

0peratinH 5emperatVre

LVCrication

Pipe #ore

.aYimVm 0peratinH CZcle

CenterinH "ccVracZ

3epeat "ccVracZ

"pplicaCle 4XitcI

ʦ.Paʧ

ʦ.Paʧ

ʦˆʧ

ʦCZcle�minʧ

ʦmmʧ

ʦmmʧ

Air

0.7

1.05

0～60 (No Freezing)

Not Required (Required for sliding parts of the machine)

M3×0.5（HP14-10）

M5×0.8（HP14-16, 20, 25）

180

±0.07

±0.01

ZE, ES Type (Solid State Switch)

)P�����

)P�����

)P�����

)P�����

60

100

160

280

0.3

0.8

1.4

2.4

0.3

0.8

1.4

2.4

0.6

1.6

2.8

4.8

.oEel

LoaE anE
.oment

'Y

."

.#

.C

'9

ʦ/ʧ
."

ʦ/ɾmʧ
.#

ʦ/ɾmʧ
.C

ʦ/ɾmʧ

ProEVct
.aTT
ʦHʧ

.inimVm
0peratinH
PreTTVre
ʦ.Paʧ

0peninH�
CloTinH
4troLe
ʦmmʧ

#ore 4i[e
ʦmmʧ

.oEel
0VtTiEe %imenTionT

	5 Y 8 Y L

ʦmmʧ

GrippinH 'orce
ʦ/ʧ

CloTe 0pen

"ction
5Zpe

141

H
P

1
4

 S
e
rie

s
C

o
m

p
a
c
t P

a
ra

lle
l L

in
e
a
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



.ain #oEZ .oVntinH .etIoE

●Switch not attachable in this case

8Ien tIe tIroVHI�Iole oG tIe main CoEZ iT VTeE1 8Ien tIe moVntinH TcreXT on tIe CotI TiEe oG tIe main CoEZ are VTeE2

8Ien tIe moVntinH TcreX on tIe TiEe oG tIe main CoEZ iT VTeE3 8Ien tIe moVntinH TcreX on tIe Cottom Gace oG tIe main CoEZ iT VTeE4

●When the switch is mounted, a relief is required because
the switch protrudes.

˙Gripper "ttacIment .etIoE

)P�����C

)P�����C

)P�����C

)P�����C

.oEel
#olt to

Ce 6TeE
.aYimVm 5iHIteninH

5orRVe ʦ/ɾmʧ

M3×0.5

M4×0.7

M5×0.8

M6×1.0

1.14

2.7

5.4

9.2

M3×0.5

M5×0.8

0.59

1.57

Pipe Port
.aYimVm 5iHIteninH 5orRVe

ʦ/ɾmʧ

Pipe "ttacIment .oVntinH

When you screw in a joint or the

like into the pipe port, tighten it

with the following torque.

When you mount the attachment, support it with a spanner or 

the like so that the levers are not rattled. See the following

table for the tightening torque of the mounting bolts. 

)P�����C

)P�����C

)P�����C

)P�����C

.oEel
#olt to

Ce 6TeE

M4×0.7

M4×0.7

M5×0.8

M6×1.0

.aYimVm 5iHIteninH 5orRVe
ʦ/ɾmʧ

1.37

1.37

2.84

4.81

)P�����C

)P�����C

)P�����C

)P�����C

.oEel
#olt to

Ce 6TeE
PoTitioninH )ole

.aYimVm 5iHIteninH
5orRVe ʦ/ɾmʧ

.oEel
#olt to

Ce 6TeE
PoTitioninH )ole

.aYimVm 5iHIteninH
5orRVe ʦ/ɾmʧ

M3×0.5

M3×0.5

M4×0.7

M5×0.8

0.59

0.59

1.37

2.84

φ2 depth1.5
＋0.03
　0

φ3 depth1.5
＋0.03
　0

φ3 depth1.5
＋0.03
　0

φ2.5 depth1.5
＋0.03
　0

PoTitioninH
)ole

˔PoTitioninH )ole
(Use this hole to determine
 the position in mounting.)

PoTitioninH
)ole

)P�����C

)P�����C

)P�����C

)P�����C

M3×0.5

M4×0.7

M5×0.8

M6×1.0

0.59

1.37

2.84

4.81

φ11 depth1.5
＋0.05
　0

φ17 depth1.5
＋0.05
　0

φ21 depth1.5
＋0.05
　0

φ26 depth1.5
＋0.05
　0

)P�����C

)P�����C

)P�����C

)P�����C

M3×0.5

M4×0.7

M5×0.8

M6×1.0

0.59

1.37

2.84

4.81

˔PoTitioninH )ole
(Use this hole to determine
 the position in mounting.)

.oEel
#olt to

Ce 6TeE
PoTitioninH )ole

.aYimVm 5iHIteninH
5orRVe ʦ/ɾmʧ

.oEel
#olt to

Ce 6TeE
.aYimVm 5iHIteninH 5orRVe

ʦ/ɾmʧ

˙&⒎ectiWe GrippinH 'orce 	ClosinH 'orce


�

��

�� �� �� �� �� ��

��

��

��

GrippinH Point L  ʦmmʧ

�

��

�� �� �� �� ������

��

��

��

GrippinH Point L  ʦmmʧ

�

��

�� �� �� �� ���

��

��

��

GrippinH Point L  ʦmmʧ

�

�

�� �� ��

��

��

GrippinH Point L  ʦmmʧ

)P�����C

�

��

�� �� �� ��

��

��

��

��

GrippinH Point L  ʦmmʧ

)P�����C

�

��

�� �� �� ��

��

��

��

GrippinH Point L  ʦmmʧ

)P�����C

�

��

�� �� �� ���

��

��

���

GrippinH Point L  ʦmmʧ

)P�����C

˙GrippinH Point Limit 3anHe

)P�����C )P�����C )P�����C

)P�����C

�

��

�� �� �� �� ���

��

��

��

��

GrippinH Point L  ʦmmʧ

)

L

G
ri
p
p
in

H
 '

o
rc

e
 <

/
>

G
ri
p
p
in

H
 '

o
rc

e
 <

/
>

G
ri
p
p
in

H
 '

o
rc

e
 <

/
>

G
ri
p
p
in

H
 '

o
rc

e
 <

/
>

0
W
e
rI

a
n
H

 )
 ʦ

m
m

ʧ

0
W
e
rI

a
n
H

 )
 ʦ

m
m

ʧ

0
W
e
rI

a
n
H

 )
 ʦ

m
m

ʧ

0
W
e
rI

a
n
H

 )
 ʦ

m
m

ʧ

8orLpiece
GrippinH Point

0.7MPa

0.5MPa

0.3MPa

0.7MPa

0.5MPa

0.3MPa

0.7MPa

0.5MPa

0.3MPa

0.7MPa

0.5MPa

0.3MPa

0.2MPa

0.3MPa

0.5MPa

0.4MPa

0.7MPa 0.7MPa

0.6MPa

0.4MPa

0.6MPa

0.2MPa

0.3MPa

0.5MPa

0.7MPa

0.6MPa

0.2MPa

0.3MPa

0.4MPa

0.5MPa

0.6MPa

0.2MPa

0.3MPa

0.4MPa

0.5MPa

0.7MPa

142

Compact Parallel Linear Gripper

HP14 Series

H
P

1
4

 S
e
rie

s
C

o
m

p
a
c
t P

a
ra

lle
l L

in
e
a
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



.ain #oEZ .oVntinH .etIoE

●Switch not attachable in this case

8Ien tIe tIroVHI�Iole oG tIe main CoEZ iT VTeE1 8Ien tIe moVntinH TcreXT on tIe CotI TiEe oG tIe main CoEZ are VTeE2

8Ien tIe moVntinH TcreX on tIe TiEe oG tIe main CoEZ iT VTeE3 8Ien tIe moVntinH TcreX on tIe Cottom Gace oG tIe main CoEZ iT VTeE4

●When the switch is mounted, a relief is required because
　the switch protrudes.

˙Gripper "ttacIment .etIoE

)P�����C

)P�����C

)P�����C

)P�����C

.oEel
#olt to

Ce 6TeE
.aYimVm 5iHIteninH

5orRVe ʦ/ɾmʧ

M3×0.5

M4×0.7

M5×0.8

M6×1.0

1.14

2.7

5.4

9.2

M3×0.5

M5×0.8

0.59

1.57

Pipe Port
.aYimVm 5iHIteninH 5orRVe

ʦ/ɾmʧ

Pipe "ttacIment .oVntinH

When you screw in a joint or the

like into the pipe port, tighten it

with the following torque.

When you mount the attachment, support it with a spanner or 

the like so that the levers are not rattled. See the following

table for the tightening torque of the mounting bolts. 

)P�����C

)P�����C

)P�����C

)P�����C

.oEel
#olt to

Ce 6TeE

M4×0.7

M4×0.7

M5×0.8

M6×1.0

.aYimVm 5iHIteninH 5orRVe
ʦ/ɾmʧ

1.37

1.37

2.84

4.81

)P�����C

)P�����C

)P�����C

)P�����C

.oEel
#olt to

Ce 6TeE
PoTitioninH )ole

.aYimVm 5iHIteninH
5orRVe ʦ/ɾmʧ

.oEel
#olt to

Ce 6TeE
PoTitioninH )ole

.aYimVm 5iHIteninH
5orRVe ʦ/ɾmʧ

M3×0.5

M3×0.5

M4×0.7

M5×0.8

0.59

0.59

1.37

2.84

φ2      depth1.5
＋0.03
　0

φ3      depth1.5
＋0.03
　0

φ3      depth1.5
＋0.03
　0

φ2.5      depth1.5
＋0.03
　0

PoTitioninH
)ole

˔PoTitioninH )ole
(Use this hole to determine
 the position in mounting.)

PoTitioninH
)ole

)P�����C

)P�����C

)P�����C

)P�����C

M3×0.5

M4×0.7

M5×0.8

M6×1.0

0.59

1.37

2.84

4.81

φ11      depth1.5
＋0.05
　0

φ17      depth1.5
＋0.05
　0

φ21      depth1.5
＋0.05
　0

φ26      depth1.5
＋0.05
　0

)P�����C

)P�����C

)P�����C

)P�����C

M3×0.5

M4×0.7

M5×0.8

M6×1.0

0.59

1.37

2.84

4.81

˔PoTitioninH )ole
(Use this hole to determine
 the position in mounting.)

.oEel
#olt to

Ce 6TeE
PoTitioninH )ole

.aYimVm 5iHIteninH
5orRVe ʦ/ɾmʧ

.oEel
#olt to

Ce 6TeE
.aYimVm 5iHIteninH 5orRVe

ʦ/ɾmʧ

143

H
P

1
4

 S
e
rie

s
C

o
m

p
a
c
t P

a
ra

lle
l L

in
e
a
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



˙%imensions HP14�10C ˙%imensions

C"% Eata proWiEeE

HP14�16C

（Closing Port）

（Opening Port）

(P
o
s
it
io
n
in
g
 P
in
)

Depth 1.5
(Positioning Hole)

Depth 1.5
(Positioning Hole) Depth 3

(Positioning Hole)

Depth 6

Depth 5

Depth 5 (Both sides)

Lower Hole φ3.4 Through-Hole

Depth 4

D
e
p
th
 1
.5

＋
1
.2

　
0

　
0

－
0
.6

W
h
e
n
 o
p
e
n
e
d
: 
1
3
.2

W
h
e
n
 c
lo
s
e
d
 :
  
 9
.4

View on Arrow A

144

Compact Parallel Linear Gripper

HP14 Series

H
P

1
4

 S
e
rie

s
C

o
m

p
a
c
t P

a
ra

lle
l L

in
e
a
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



˙%imensions HP14�16C

（Closing Port）

（Opening Port）

(P
os
it
io
ni
ng
 P
in
)

Depth 1.5
(Positioning Hole)

Depth 1.5
(Positioning Hole)

Depth 3
(Positioning Hole)

Depth 8

＋
1
.8

　
0

　
0

－
0
.6

W
h
e
n
 o
p
e
n
e
d
: 
1
8
.0

W
h
e
n
 c
lo
s
e
d
 :
 1
2
.4

Depth 6

Depth 5

Depth 8 (Both sides)

Lower Hole φ3.4 Through-Hole

D
e
p
th
 1
.5

View on Arrow A

145

H
P

1
4

 S
e
rie

s
C

o
m

p
a
c
t P

a
ra

lle
l L

in
e
a
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



˙%imensions

C"% Eata proWiEeE

HP14�25C˙%imensions HP14�20C

（Closing Port）

（Opening Port）

(P
os
it
io
ni
ng
 P
in
)

Depth 1.5
(Positioning Hole)

Depth 1.5
(Positioning Hole)

Depth 4
(Positioning Hole)

Depth 8

Depth 7

Depth 7

＋
2
.0

　
0

　
0

－
1
.0

W
h
e
n
 o
p
e
n
e
d
: 
2
6
.2

W
h
e
n
 c
lo
s
e
d
 :
 1
6
.6

D
e
p
th
 1
.5

Depth 10 (Both sides)

Lower Hole φ4.3 Through-Hole

View on Arrow A

146

Compact Parallel Linear Gripper

HP14 Series

H
P

1
4

 S
e
rie

s
C

o
m

p
a
c
t P

a
ra

lle
l L

in
e
a
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



˙%imensions HP14�25C

（Closing Port）

（Opening Port）

(P
os
iti
on
in
g 
P
in
)

Depth 2
(Positioning Hole)

Depth 2
(Positioning Hole)

Depth 4
(Positioning Hole)

Depth 12

＋
2
.0

　
0
.1

　
0

－
1
.2

W
h
e
n
 o
p
e
n
e
d
: 
3
3
.0

W
h
e
n
 c
lo
s
e
d
 :
 1
9
.6

D
e
p
th
 2

Depth 10
Depth 9

Depth 12 (Both sides)

Lower Hole φ5.1 Through-Hole

View on Arrow A

147

H
P

1
4

 S
e
rie

s
C

o
m

p
a
c
t P

a
ra

lle
l L

in
e
a
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



˙SXitcI ProtrVsion %istance

4XitcI 'iYinH 4creX
ʢ.���̫ ����ʣ

4XitcI
4XitcI
.oVntinH
GrooWe

The maximum switch protrusion 
from the switch body end face 
(when the levers are full closed) 
is shown in the table below. Use 
it as a guide for mounting. 

Insert the switch into the switch 
mounting groove. After setting 
the mounting position, tighten
the switch fixing screw with a 
precision screwdriver. 
The tightening torque shall be
0.1 N・m or less. 

˙SXitcI 3esponse %i⒎erence ˙SXitcI .oVntinH
The distance from the position where 
the levers move and the switch turns 
on to the position where the levers 
move in the reverse direction and the 
switch turns off is called "response 
difference".

˙SXitcI .oVntinH Position "EKVstment .etIoE

①Indicates the position where you need to check if the switch is ON. Mount the switch by adjusting it in the order from ① to ④. 

'or eYternal HrippinH

'or internal HrippinH

4XitcI 3etVrn PoTition 	0''


4XitcI 0perationPoTition 	0/


)P�����C

)P�����C

)P�����C

)P�����C

3

4

4

5

)P�����C

)P�����C

)P�����C

)P�����C

.oEel
.aYimVm 3eTponTe

%i⒎erence ʢmmʣ .oEel
4XitcI ProtrVTion
%i⒎erence L ʢmmʣ

0.25

0.4

0.4

0.4

L

①Check the workpiece 

external gripping and 

full close.

②Insert the switch into the 

switch mounting groove 

of the main body in the 

arrow direction. 

③The LED lamp lights 

up by turning on the 

switch in the arrow 

direction.

④Fix the switch by a switch fixing 

screw at the position where the 

switch is moved 0.6 mm in the 

arrow direction from the position 

where the lamp lights up in [3].

①Check the workpiece 

internal gripping and 

full opening.

②Insert the switch into the 

switch mounting groove 

of the main body in the 

arrow direction. 

③The LED lamp lights 

up by moving the 

switch in the arrow 

direction. It goes off 

by moving it further. 

④Fix the switch at the position that 

is 0.6 mm moved from the position 

where the LED lamp lights up when 

it is returned in the arrow direction 

(reverse direction) in [3]. 

3eTponTe
%i⒎erence

148

Compact Parallel Linear Gripper

HP14 Series

H
P

1
4

 S
e
rie

s
C

o
m

p
a
c
t P

a
ra

lle
l L

in
e
a
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk


